HYDRAULIC PUSH-PULL CYLINDERS | #HBYHEEIZRS!

CHTB

S8 B 5 B £T

CHTB HYDRAULIC
PSR RIS E AL INB] SR

3TEEIZ7;% ORDERING INDICATION
7): CHTB-SD32-20N

CHTB 7%l Series CHTB
SD: LB i) Axial single end rod type
SW:  EhEEEEhEeEEEY Axial double end rod type
SDMA: EhEETHIRRE Axial front manifold type
SD REEIT SDMB: & HESHRE Axial back manifold type
Mounting type LA: BT ezl Lateral single end rod type
=F=c FEATURES =||&E Sectional vie LW: s ezl Lateral double end rod type
EmfE HUEE ' M LAM: (Bl hest ea oAy Lateral manifold single end rod type
BEFE/\, SRS, LESEZIREHISZE The CHTB series’ compact construction helps S LWM: (Bl s e g Ry Lateral manifold double end rod type
1= ORI, BERE, AEETR conserve work space and can be utilized in
R restricted areas. With the standardized structure, the R I
: s e cylinder can be installed directly and does not
SRS IR P &S B4 ) :
ﬂ%ﬁ@“g}xﬁﬁ%@/zfl_ﬁﬁﬁfx%f@, BRI require any accessories to operate. The CHTB SHELAE
UDIEE' %ﬁﬁﬁ’ {@ﬂ%””%i ey, hydraulic cylinders are manufactured with industrial 32 Hydraulic cylinder inside diameter ®20, ®25, @32, ®40, P50, B63 , P8O
BIEhistRELRACE, IRFHEEREEE. grade carbon steel. The smooth interior is .
processed specifically to enhance product | — N 5mm,10mm,15mm,20mm,25mm,30mm,35mm,40mm,50mm
performance and increase product lifespan. 20 14312 Standard stroke HETiEa sk ERAS For other stroke, please inquire.
s N: RF N: Female thread
BARIERES: 140 kgf/cm? Max. operating pressure : 140 kgf/cm? N #imAzl Rod end type W: 4hGF W: Male thread
BNRIEBES: 5 kgf/cm? Min. operating pressure : 5 kgf/cm®
1’E§j:|fj_ft %EE}JEE Double acting
SrEREETE NOTE AR 285K SPECIFICATIONS
1L/ =
2 E, BUDEANEEE, ization i i , . P . P . . _
?H?;LTATMEX;TB,ZSAE =E) ]%Jrs:sg;éz?;gn is available upon request, please contact us HIAE EEEE  SEEE 1S R EEGE
LWMZZY, 1TF210mmEERTSERE i i, CHTB-LAM and CHTB-LWM series, stroke 10mm without HYDRAULIC CYLINDER ~ PISTON PRESSURE OPERATION PRESSURE(kgf/crm) RANGE OF
keyway and parallel key. INSIDE DIAMETER(mm) DIAMETER(mm) ~ AREA(CmY) g TEMPERATURE(°C)
10 35 70 100 140
F1 F2 F1 F2 F1 F2 F1 F2 F1 F2 F1 F2 -10~+60°C
®20 12 314 2.01 31 20 110 71 220 141 314 201 440 281 -10~+60°C
25 14 491 337 49 34 172 118 344 236 491 337 687 472 -10~+60°C
F1:3EHPush out <+— 32 20 8.04 49 80 49 281 172 563 343 804 490 1126 686 -10~+60°C
D40 25 1257 766 126 77 440 268 880 536 1257 766 1760 1072 -10~+60°C
50 ®30 1964 1257 196 126 687 440 1375 880 1964 1257 2750 1760 -10~+60°C
F2: 57 \Pull in —> D63 35 3117 2155 312 216 1091 754 2182 1509 3117 2155 4364 3017 -10~+60°C

CHTB ®45 50.27 3437 503 344 1759 1203 3519 2406 5027 3437 7038 4812 -10~+60°C
CHTM @40 5027 377 503 377 1759 1320 3519 2639 5027 3770 7038 5278 -10~+60°C

®80

EFAmES: HERISOREFRMISO-VG-32—RREEH
Recommended: ISO-VG-32 hydraulic oil equivalent to ISO viscosity grade

131 | & W EH R 5 PNEUMATIC & HYDRAULIC CLAMPS | 132



CHTB Hydraulic axial mounting type SDMA & SWMB Unit:mm

SD- N[ B s 2 Bhim A 5 SD- Wi B st 2 Simoh F 2 SDMA-N# Rl R #imA 7 5 Bore  ®20 ®©25 ®32 @40 50 @63 &80
il - N A 59 53 64 65 71 8 95
.
A ————— = F/——— T O1-Ri P1 N
,ji}?;it,é g @ @ = —— 1 ing AL 71 75 89 95 106 120 140
© / ©) oX(@) ©) B 43 45 54 55 60 67 78
17777777777 A A e f oF — B — 7777; \;K
o | N © ~ 110 O) o1 o g8 8 10 10 11 13 17
& @ @\
B I ettt it B ~— B I ittt S ~—— CL 6 6 7 7 8 10 14
e 1£ ChnmE® I e i QT T
‘ ]
P2+;TST P1 ) W A+ST WL ;;N D 12 14 20 25 30 35 45
. OF AL+ST al: sw 10 12 17 22 271 32 41
A+ST OE
E 42 48 62 70 8 94 114
F 30 36 47 52 58 69 86
SW- N[ 2 Sim R 7 SW-Wi[a EZest 2 simoh A1 SDMB-NE & B IR i 2 H 55 55 65 g 11 13 15
P T*H’ y K 5.6 5.6 6.8 9 11 13 15
=" —FF 3 e I E 1] o] J J L e dn e
5) o) S = N M8&xI25 MIOXI5 MIX175 M1620 M20x25 M27x30 M3035
A . _ o o= x12D_ x15D  x15D x20D x5D 35D  x35D
© N © © “ e=—==== W MIOKI25 MI2025 M16x15 M22x15 M26x15 M30x15 M39x15
- . - . —C—I‘J,jj;i:ii,
B I it i ity B A o et | [ ——— 1 WL 20 22 25 30 35 40 45
clL, e e e - C B+ST
P3+ST__ P1 e - Al A+ST P1 165 195 24 27 32 38 47
et Peest : ® HEitiEz, Push out SOMAR1 13 18 24 26 27 35 45
AN+2ST AN2ST RINHFL Pull in
O1 S4 P4 P6 P6 P6 P8 P11
ST=Stroke SDMA-WEHHI BRI 2 81 72 o2l 13 16 20 24 29 35 a4
SDMB R2 11 13 20 20 20 26 30
02 P5 P7 P9 P9 P9 P11 P11
CHTB Hydraulic axial mounting type SD & SW Unit:mm
Bore 20 25 ®32 40 50 63 80 100
A 51 53 64 65 71 80 95 105
AL 71 75 89 95 106 120 140 165
AN = = 89 90 97 108 127 140
AW - - 139 150 167 188 217 260
B 43 45 54 55 60 67 78 88
BB = - 69 70 75 82 23 106
d 8 8 10 10 11 13 17 17
cL 6 6 7 7 8 10 14 14 : ‘
D 12 14 20 25 30 35 45 56 SDMB-Wel{ ek iR Bl 2L
swW 10 12 17 2 27 32 4 50
E Y 48 62 70 80 Y 114 134
F 30 36 47 52 58 69 86 102
H 55 55 6.5 9 11 13 15 175 02-Ring _ _
K 56 56 68 9 11 13 15 18 ———
M 9 9 11 14 18 20 22 26 o
N  M8x125x12D M10x1.5x15D M12x1.75x15D M16x20x20D M20x25x25D M27x3.0x35D MB30x3.5x35D  M36x4.0x40D S 2 -— % —————— -+
w M10x1.25 M12x1.25 M16x1.5 M22x1.5 M26x1.5 MB30x1.5 M39x1.5 M48x1.5 | e=====
wL 20 p7) 25 30 35 40 45 60 ——— 3
P1 225 23 28 28 295 31 33 39 WL A+ST
P2 11 12 14 15 18 20 27 28 o
P3 = = 13 14 16 20 27 28 ® ¥EHIHFL Push out AL+ST
R 5 5 10 10 10 10 15 15 HINGHFL Pull in
PT 1/8 1/8 1/4 1/4 1/4 3/8 3/8 3/8

133 | &l E R 5 PNEUMATIC & HYDRAULIC CLAMPS | 134



2-PT
LA-N({lm Eaiese 2 B A 5L ¥
o)
©
O
@) o
&)
7a 4
@ @)
P1 _P2+ST  \4-@K
N
M
e 1 e
b + 1
| ‘ | | ‘ | | ‘ | | ‘ |
| | | | | | | |
o [ || [a) I [N
RSyl S BT
= | i | i | i | CL Il | i |
1;1 \? 111 = = s L
SW Cl KA _kwl e
"KL B+ST
EA A+ST
20 __FF+ST 2-PT
[A]
N\~ K\y/ LW- N e i s 7 5L
7>
\J/
1E-g-Td=
@) e
\\7
) 4
[\ @%
P1 |P3+ST  \4-0K
oM
| |
=
] || KEY
a 77‘\‘777\‘7777 N O
g8 2 R R ——s
CL | [ . f ﬂ
. 1 } 1 = ! 1 < h KL KT
KA KW ST=Stroke
C BB+ST C+ST
AN+2ST
LA-WilmEsazess 2 atimoh A 2 LW-WiRIm S 2 alim s F 5L
| | | |
Hii i
= I o | S ;I B[ S S B ) Y v | R
il T
Ll o W 1‘1
| ! | x | } |
WL A+ST WL C BB+ST C+ST WL
AL+ST AW+2ST
135 | & i E 1 & 51

CHTB Hydraulic side

mounting type LA & LW

Bore ®32 @40

A
AL
AN
AW

B
BB

C
CL

D
sw
EA
EB
LH

KL

KB

64
89
89

139
54
69
10

7
20
17

70
56
25
56
24
32

9
9
14

65
95
90
150
55
70
10
7
25
22
80
64
29
62
23
32
11
11
18

®50

71
106
97
167
60
75
11
8
30
27
%4
74
34
74
27
35
13
13
20

D63

80
120
108
188

67

82

13

10

35

32
114
89
42
90

32
42

15

15
22

80

98
143
129
219
81
95
17
14
45
4
134
109
52
110
41
4
15
15
22

Unit:mm
»100

105
165
140
260
88
106
17
14
56
50
160
12
62
134
44
44
17
18
26

M12x1.75 M16x2.0 M20x25 M27x3.0 M30x3.5 M36x4

x15D

x20D

x25D

x35D

x35D

x40D

M16x1.5 M22x15 M26x15 M30x1.5 M39x15 M48x1.5

25
28
14
13
10
1/4
12

63
28
4.5

30
28
15
14
10
1/4
12

70
28
4.5

35
295
18
16
10
1/4
14

80
29

40
31
20
20
10
3/8
16
10
100
31
55

45
35
28
25
15
3/8
16
10
100
34
5.5

60
39
28
28
15
3/8
16
10
100
34
5.5

&t {772 < 20R0MRERIE R TR
LAM-NEIT S R 32 2 B T 2

EB

LH

FA
|
|
[
[~
RiR
|

O-Ring

FA
|
I
|
|,
0 AN
|
RIR

4-0K

@D
S
|
P
4«!4
|

KB

LWM-NIa R E Rk Sin A 5

[\ 6@
P1 |P3+ST 4-@K
oM
M.
| | | |
a I I A
B o
ol il g & Lu L
v s &M I ST=Stroke
K kw [ _|o-Ring
C BB+ST C+ST
AN+2ST
LAM-W | e)itEs iR Es sz Bim i A 2 LWM-W st as 2 aim 2
ey ———r
h I H !
. 77“7—74!;7 . = S Lo
H it il 1l
} ‘ M\ MM } | M\ \H} | }
_L‘rdﬂJ;n_'Z_dﬂﬂ_ | !ﬁiUﬁ Ailh‘ |
WL A+ST WL | C BB+ST C+ST WL
AL+ST AW+2ST

CHTB Hydraulic

manifold type LAM & LWM

Bore
A
AL
AN
AW
B
BB
C
CL
D
SwW
EA
EB
LH

KL
KB

®32

64
89
89

139
54
69
10

7
20
17
70
56
25
56
24
32
9
9
14

P40 P50
65 71
95 106
90 97

150 167
55 60
70 75
10 11

7 8
25 30
22 27
80 ez
64 74
29 34
62 74
23 27
32 35
11 13
11 13
18 20

P63

80
120
108
188

67

82

13

10

35

32
114
89
42
90

32
42

15

15

22

Unit:mm

®80

98
143

81

17
14
45
41
134
109
52
110
41
15
15
22

M12x1.75 M16x20 M20x25 M27x3.0 M30x3.5

x15D

x20D x25D

x35D

x35D

M16x1.5 M22x1.5 M26x1.5 M30x1.5 M39x1.5

25
28
14
13
10
P9
12
8
63
45
38

30 35
28 29.5
15 18
14 16
10 10
P9 P11
12 14
8 9
70 80
45 5
38 40

40
31
20
20
10
P11
16
10
100
55
42

45
35
28
15
P11
16
10
100
55
52

PNEUMATIC & HYDRAULIC CLAMPS | 136





